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-2
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;op
;tran 0 100m 0 1u
.four 1k v(Out)
.ac oct 100 1 100Meg
;noise V(Out) V1 oct 100 1 100Meg
;tf V(Out) V1
;dc temp 25 80 1
.temp 45
.inc potentiometer.sub

;tran 0 4m 0 100n
.ac dec 30 1K 1G
.options plotwinsize=0

SINE(0 .17 1K)

SINE(0 1.7 1K)

-1/(1-1/(2*(I(Vi)@1*V(Out)@2-V(Out)@1*I(Vi)@2)+V(Out)@1+I(Vi)@2))
.step param prb list -1 1 ; set prb=0 to turn off probe
.ac oct 100 1 100Meg

PULSE(-1.7 1.7 0 50n 50n 1.25m 2.50m 10)
PULSE(-1.7 1.7 0 50n 50n 125u 250u 10)
PULSE(-1.7 1.7 0 50n 50n 12.5u 25u 10)
PULSE(-1.7 1.7 0 50n 50n 1.25u 2.5u 10)
PULSE(-1.58 1.58 0 50n 50n 0.125u 0.25u 10)

OL=46,5dB
CL=15,3dB

 ---  C:\Program Files\LTC\SwCADIII\circuits\jcx FC J-FET opamp v.1.7.asc  --- 


